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] 100kN/MZ#8 % % — -~ — —|3mZEiBZ D -~ — - —| 100kN/ Mm%z % — -~ — —|3mZE#BZ3 -~ — — —
Zh st 1.00| 000 ~ 473 5895 | #nbList | 000 ~ 000 1.65 8.36 zh st 1.00| 500 ~ 5.00 5895 | #hbList | 500 ~ 500 | 1.65 8.36
) 100kN/mMZ#8 % % — -~ — —|3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZE#BZ3 -~ — — —
Zzh st 1.00| 000 ~ 6.08 76.18 | #hbList | 000 ~ 6.08| 1.84 9.31 zh st 1.00| 500 ~ 7.11 76.18 | #hbist | 500 ~ 711 | 1.84 9.31
3 100kN/mMZ#8 % % — -~ — —|3m%EiBZ S -~ — - —| 100kN/ Mm%z % — -~ — —|3mZE#BZ3 -~ — — —
Zh st 1.00| 000 ~ 6.04 7567 | #hbList | 000 ~ 000 1.64 8.31 Zh st 1.00| 500 ~ 7.09 7567 | #hbist | 500 ~ 7.09| 1.64 8.31
4 100kN/mMZ#8 % % — -~ — —|3m%EiBZ S -~ — - —| 100kN/ Mm%z % — -~ — —|3mZE#BZ3 -~ — — —
Zh st 1.00 | 000 ~ 5.91 7398 | #hbList | 000 ~ 000 1.60 8.09 Zh st 1.00| 500 ~ 7.09 7398 | #hbist | 500 ~ 7.09| 1.60 8.09
5 100kN/mMZ#8 % % — -~ — —|3m%EiBZ S -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZE#BZ3 -~ — — —
Zh st 1.00| 000 ~ 6.14 7702 | #hbiis | 000 ~ 000 1.78 897 Zh st 1.00| 500 ~ 708 7702 | #hbist | 500 ~ 7.08| 1.78 8.97
6 100kN/mMZ#8 % % — -~ — —|3m%EiBZ S -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZE#BZ3 -~ — — —
Zhst 1.00| 000 ~ 474 5908 | #nbList | 000 ~ 000 1.66 8.41 Zh st 1.00| 500 ~ 5.00 5908 | #hbList | 500 ~ 500 | 1.66 8.41
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImERZS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
zhst ~ Zh st ~ Zh st ~ zh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhst ~ Zh st ~ Zh st ~ zh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhst ~ Zh st ~ Zh st ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhst ~ Zh st ~ zhst ~ Zh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
Zzh st ~ Zzh st ~ Zh st ~ Zh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImERZS ~
Zhst ~ Zh st ~ Zh st ~ Zzh st ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
Zh st ~ Zh st ~ Zh st ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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